
MTS SIDE PIVOT
FOR SHIFTER / HANDBRAKE

THROTTLE QUADRANT
Instruction Manual

Bedienungsanleitung
Mode d‘emploi



2MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x

2x

PARTS SIDE PIVOT
1x

[dimensions in mm / different scales]
No extra or spare parts listed!

4x

750

40

80

90

40

80

 80
 

 4
0 

4x

4x

 30 

 Ø
8 

4x

M8

26x

 
8 

 18 

6x

 
8 

 16 

16x

 8,4 
 24 

 8,4 
 16 

6x

16x

black

black



3MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

ASSEMBLY SIDE PIVOT

M8x30

slot
nut M8

Ø8mm

Pre-assembled
universal connector

4x pre-assembled
universal connector

750mm profile



4MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

approx. 160m
m

90

Choose height 
position on
750mm profile
as you like or as
necessary.

loose fit
for now



5MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

3x
slot nut

M8

3x
slot nut

M8



6MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

3x
M8x18

3x
washer Ø24

3x
M8x18

3x
washer Ø24



7MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

Assemble the 4 brackets.
Loose fit!

Detail on next page.

8x
slot nut

M8



8MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

M8x16
black

washers
Ø16

black

washers
Ø16

black

M8x16
black



9MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

cap

cap

cap

cap



10MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

8x
slot nut

M8



11MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

8x
M8x16
black

8x
washer Ø16

black

detail

8x
M8x16
black

8x
washer Ø16

black



12MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

Choose position
then finally fasten the

yellow marked screws.



13MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

PARTS SHIFTER / THROTTLE QUADRANT [dimensions in mm / different scales]
No extra or spare parts listed!

230

40

80

170

40

80

120

40

80

70

40

80

1x

1x

1x

1x

 80
 

 4
0 

3x

6x

 30 

 Ø
8 

6x

M8

8x

 
8 

 16 

2x

 16 

 
8 

2x

 8,4 
 16 

2x
black

black

 
6 

 16 

 6,4 
 12 

4x

4x

70

40

80

1x



14MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

 8,1 
 16 

 10 
 26,1 

 80
 

 4
0 

2x 2x

2x

 40 

 8 

 3
5 

2x

 8 

2x

1x

OR
as ordered
for shifter

If you have ordered a 
throttle quadrant, you will 
receive the selected 
mounting plate.



15MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

ASSEMBLY SHIFTER / THROTTLE QUADRANT

swivel cap

swivel inlay

axial ball bearing

star knob

lever with
flange nut 

lever with
flange nut 

star knob

swivel inlay

swivel cap

axial ball bearing

axial ball bearing

axial ball bearing

how to
stack the

ball bearings 

grooves
towards
the balls



16MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

green marked parts
still loose for adjustment 

fasten
star knobs

Other MTS parts
faded out for
better overview.



17MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

swivel 90°

fasten
clamping 
levers

If it looks like this
and runs smooth
the green parts can
be finally fixed.



18MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

120 mm

70 mm

2x
pre-assembled

universal connector

170 mm

pre-assembled
universal connector

pre-assembled
universal connector

turned

ASSEMBLY SHIFTER

choose 
position



19MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x
slot nut

M8

cap

cap

cap



20MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

If you want to use a combination 
of shifter and handbrake, the 
cap must not protrude.

2x
M8x16
flat head

universal
shifter 
plate

choose 
position



21MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

4x
M6x16

4x
washer

Ø12

Fanatec
Shifter
for
example



22MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x
M8x16
black

Trustmaster
TSS
shifter/hand-
brake plate

choose 
position

2x
washer Ø16
black

Alternative



23MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

4x
M6x16

4x
washer
Ø12

Trustmaster
TSS Shifter



24MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x
slot nut
M8

2x
universal
connector

2x
M8x30

Side pivot and
other MTS parts
faded out for
better overview.



25MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

choose 
position



26MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

ASSEMBLY THROTTLE QUADRANT

120 mm

70 mm

2x
pre-assembled

universal connector

70 mm

pre-assembled
universal connector

pre-assembled
universal connector

turned

2x
slot nut

type / thread
depends on the mounting

plate you want to assemble

choose 
position



27MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

cap

cap

cap

mounting plate
as ordered

For example a
Virtual Fly TQ6+

screws specific
for the ordered
mounting plate



28MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

For example a Virtual Fly TQ6+

4x
M4x16

4x
washer Ø9

Screws are
specific to the 
ordered mounting 
plate.

So this is only an 
example!



29MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x
slot nut
M8

2x
universal
connector

2x
M8x30

Side pivot and
other MTS parts
faded out for
better overview.



30MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

Alternative assembly in 
this slot is possible too.

choose 
position



31MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

PARTS FOR OPTIONAL HANDBRAKE EXTENSION [dimensions in mm / different scales]
No extra or spare parts listed!

170

40

80

1x

1x

1x

 80
 

 4
0 

3x

6x

 30 

 Ø
8 

6x

M8

8x 
8 

 16 

2x

 8,4 
 16 

2x
black

black

 
6 

 16 

 6,4 
 12 

4x

4x

115

40

80

150

40

80



32MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

Assembly shown for horizontal 
mounting plate position.

alternative with
mounting plate vertical

150 mm

115 mm

pre-assembled
universal connectors

choose 
position

170 mm

pre-assembled
universal connector

pre-assembled
universal connector

choose 
position

turned

2x
slot nut

M8

Leave this profile away
for alternative assembly 
with vertical mounting 
plate.

ASSEMBLY FOR OPTIONAL HANDBRAKE EXTENSION



33MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

cap

cap

cap

2x
M8x16
black

2x
washer Ø16

black

universal
handbrake

platechoose 
position

Assemble the 
Trustmaster
TSS Shifter as 
shown already.

possible alternative



34MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

Example for assembling a Fanatec Club Sport handbrake
in vertical position.

3x
M6x16

3x
washer

Ø12



35MTSIM MTS SIDE PIVOT INSTRUCTION MANUAL

2x
slot nut
M8

2x
M8x30

2x
universal
connector

Side pivot and
other MTS parts
faded out for
better overview.



choose 
position

06-06-2023


